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1. | What is the principle by which microwave oven works?
(a) Conduction Only

(b) Convection Only

(c) Radiation Only

(d) Both Conduction and Radiation

WS 51aa viant s Rigia w2 s 538 ?
(a) s (s-3su)mii Rigia w2

(b) Gechouall 2iasnt (s sl Rigia w2
(c) B+t Rugid u

(d) Bt 4R =859 Bugid w2

2. | Who has written ‘Poverty and Un-British Rule In India’ book
(a) R. C. Dutt

| (b) G K. Gokhale

(c) M. K. Gandhi

(d) Dadabhai Navroji

Ad-unisl A Wl Ars 2-Bdla 36§ SRAC Nns Yads avy 6 ?
(a) 2uR. Al et

(b) ®. 5. 2Nwd

(c) 2An. 3. Aidl

(d) lE18u8 AN

3. | Who was Gandhiji’s personal secretary .
(a) Mohan lal Pandya (b) Mahadev Desai

(c) Vinoba Bhave (d) Sarojini Naidu
Aileo-L vidtd AR S8 sdl ? | ,

(a) Hlscnd s (b) MsRasus 2
(c) [a-isu eud (d) AL g

4. | The Nobel Prize in Economics in 2012 has been awarded to Alvin Roth and Lloyd
Shapley for their work related to

(a) Mechanism Design Theory

(b) Economic Governance

(c) Analysis of Trade Patterns

(d) Market Design Theory

2012 Ui x1guqal W2 Nod WRANS (& A% A @il WA AA-uuidl san faui
UELL W12 WOy ¢ ?

(a) FBs[Ron B Rgia

(b) teleuqa MauA-

(c) RS tud [A=quw

(d) s12R BonS Rugia
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Consider the following statements on the Women’s World Chess Championship 2012:

| (i) AnnaUshenia of Ukraine won the championship by defeating India’s D. Harika in
the finals. S

(i) The tournament was held in India.

(iii) D. Harika, S. Soumya and K. Humpy were the partipants in the tournament from

India.
Which of the statements given above is/are correct?
(a) (i) Only (b) (ii) Only
(c) (iii) Only A (d) None of the three

@ wRan A wRBLL, 2012 A el QAL 52 AL

(1) vilau aiHi cuzd-d L eBsd ¢l g3l s AR Qg ol
2) RUBIA HRAul aiogaimi 2udl edl.

(3) ouRauidl oo d-uz s, 4. ¢Bs1, 2. A 27 5. exdl g,
Gualsanidl 4 / 54 Qe a8 ?

(a) ®u= (1) (b) WA (2)

(c) W= (3) (d) £ldd A WA 215 w2 dl.

Consider the following statement regarding RBI
(i) Acts as the agent of Government in respect of India’s membership of IMF.
(ii) ‘Formulates the fiscal policy for the nation. '

Which of the above statement/s is/are correct?

(a) (i) Only. (b) (ii) Only

(c) Both (i) and (i) (d) None of the three

22,6208, L deeiui DA sa-l aul.

(1) cuad 2us.sAn.s Al gl AL A ARsrA g2 adls sed 29,
@) 420 wsida AR Faize 52 9. :

Gualsanidl 54 / s sadl A B ?

(a) 554 (1) (b) $54. (2)

(©) (1) 214 (2) ¢id ' (d) cac A A4 s um dl.

‘Aam Admi Bima Yojana provides social security to

(a) All laborer in rural areas :

(b) All landless laborers living below poverty line in rural areas
(c) All laborers in urban areas - '
(d) Al laborers in both rural as well as urban areas

Daienis] “vun wuell dian diou” gt SR aelys Yreu ue sl 2d 8 ?
(a) A1 [AzdiwL aH s

(b) 2 [Azarui adloll 3un 350 @adi AR alist we.

(c) 239 [l 55t we.

(d) 3 any add) [Azar-i alis we.
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Sound waves:

(a) can travel in vaccum

(b) are longitudinal

(c) cannot travel through the medium of solid
(d) are transverse

(R d3ol..

| (a) Yraasiani d 53 a5 .

(b) Graoal a3an 6.
(c) &t (1) anai ald 53 asst «dl.
(d) Balacrousdl a3 €.

The Constitution of India (Article 148) provides for an independent office of the
Comptroller and Auditor General of India. He is appointed by

(a) The Prime Minister of India (b) The President of India

" | (c) Chief Justice of India (d) The Parliament of India -

el {18 HA2ADE-148 WHID G 53U AR dal 2UR22 F1R4 (CAG)] 2ad= 2AiE
Slu 8. CAG -l [Augs st s &9 ?

(a) nau-Al (b) xzuld
(c) ualza ~udlat (d) e

10.

Which one of the following rivers flows in a rift valley?
(a) The Son

(b) The Yamuna

(c) The Narmada

(d) The Luni

AA-puidl 59 €l Rs2 vl (@) ui ad ©.
(a) W2 €l :

(b) uq gl -

(c) Mg €l

(d) qell =€l

.

Consider the following statements:

What are the factors which influence temperature .
(i) Latitude (ii) Altitude (iii) Longitude (iv) Ocean Currents and Winds
(a) (i) and (i) : (b) (i), (ii) and (iv)

(c) (i), (ii) and (iii) : (d) (i), @i, (iii) and (iv)

DAunigdl sur 518 A ueuldd 53 9 ?

(1) waia  (2) GaiA (ned2ys)  (3) uwia  (4) uds s32 x4 wart

[Qsey :- v

(@ (1) »1 (2) (b) (1), (2) 211 (4)

(€) (1), (2) 211 (3) (d) (1), (2), (3) ¥ (3)

GS1-A : RS [P.T.O.
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12. | What causes rainfall on the coastal areas of Tamilnadu in the beginning of winters?
(a) South-West Monsoon j

(b) North-Eastern Monsoon

(c) Temparate Cyclones

(d) Local air circulation

(Braou-dl azzuaui, ala-ugu eRulE-uR RUE wsald sl AA-unis) 5487
(a) Ba-ufan Ay

(b) Griz-ydlu xRy
(c) Ridiwa sl2oidla asad
| (@) 2ula iy yRamw
13. | Which country captured a drone aircraft of United States of America?
(a) Kuwait _ (b) Iran
(c) North Korea (d) Turkey g
Dauuis su1 202 g2 AYsd A% AAR 51 i AAR152 UssAHE bucg 8qd ?
(a) 84 ! (b) SA
(c) Gur sk (d) a5l

14. | What is the harm from the depletion of Earth’s ozone layer?

(a) The average temperature of earth’s surface will increase gradually
(b) The oxygen g:ontent'of the atmosphere will decrease

(c) Increased amount of Ultra violet radiation will reach earth’s surface
(d) Sea levels will rise as the polar ice caps will gradually melt .

| yadltl 24190 24 2Ll AdL g st AU O ?

(a) yedll awdld w3 a3 93 asdl.

(b) AlcaRRiHid HiFuos w2l

(c) ezl @z (Bel ay wuewmi yedl-l auidl uR ugias.
(d) 4l 6125 Noradl 21 2uell s wwdui well 22 qul.

15. | Which one of the following statements is correct about cotton?

(a) Cotton is a Kharif crop which require 6 to 8 months to mature

(b) Cotton requires uniform temperature varying between 15°C. to 20°C.
(c) It can be cultivated in irrigated land only

(d) Cotton is the crop of sub-tropical areas only

sl AeoiHl Dd-unidl 53 sat A O ?

(a) sw Adl wdls ws 8, %v‘l uRusa adi 6 2l 8 Wi AL €9,

(b) 5wt W2 15° A, #l 20° A, L don A UMY A 3N D,

(c) AR H RSl o3 u o Goudl s 8.

(d) A WA Gu-GuasRoidlu Azl ws 8.
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16.

Which among the following is the major factor for coral bleaching? ]
(a) Global warming

(b) Decrease in situation of sea water level

(c) Fishing practice on a large scale

(d) Adverse circulation of ocean currents

S2a odlflor w2 DA-unisl 54 sRA FUAER © ?
(a) Alus arvau alg

(b) A¥g-it Well-t 24l 8218l

(c) Hl2rwa U2 1 et uglt

(d) agi; 538 uraur Rze aumt

1it-

Consider the following statements

' (i) Nearly three-fourth portion of slat productlon in India is produced by Gujarat

(i) The total slat production in Gujarat is depend on sea water
Which among the above statement/s is/are correct?

(a) Only (i)

(b) Only (ii)

(c) Both (i) & (ii)

(d) None of the three

AL 52 ARl

(1) SuRadi 242+ 5@ Gaue-uidl 3/4 Guat ArAd gl Gauled 8.
@) A1 2yel 22 Gewe aysusll u2 2R 9.
GuRlsauidl s3/sun sa-dl A O ?

(a) WA (1)

(b) M2t (2)

(c) (1) A (2) tiA

(d) eAa AR WA 25 us ).

18.

Very famous festival is celebrated at Trineteshwar Temple every year. It is located in
(a) Rajkot district

(b) Surendranagar district

(c) Dang district

(d) Bhavnagar district

€2 AN d8ldz-l [Quaid Hol su ch«ml MR ?

(a) Az si2 [yeal

(b) Y3woR [real

(c) sia [yeat

(d) eua-2R Preal

GS1-A | : 7 _ [P.T.0.
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19.

Which organ is the custodian of the National purse ? '
(a) Executive (b) Judiciary
(c) Legislature (d) Civil Servants

DA-unidl 54 vior sy (AN A8 AW S ?
(@) adladldx - (b) ~uud=
(€) HRUG : " (d) RRa A vEslda

20.
(a) The water temperature below 20° C.

| uraou (s124) - dlou Qs 2 AA-uuidl 56 wRERA dioy .

Which one of the following conditions are not suitable for the growth of corals

(b) Clean sediment free water
(c) The depth of the water upto 180 ft. :
(d) Ocean salinity ranging between 27°/... TO 30°/...

(a) 20° A. A2 wielld drum

(b) »1adu [l g well

(c) 180 52 YAl wellAl Gai§

(d) 27°/... Al 30°... L 2uen a2l aHes daidl

21.

In which state a luxury train “Golden Chariot’ has been launched on the lines of ‘Palace
on Wheels’?

(a) Karnataka

(b) Andhra Pradesh
(c) Tamil Nadu

(d) Odisha

“qAA it aled”’ - gl Ad-nnidl san Acsuui “yasl 227 (°ﬁ($*l AR2)u uH
asndl 2 A A3 scnui 2udl @ ? -

(a) sa2s
(b) HiuME2
(c) alanug
(d) 2R

.

22.

Guijarat is the neighbor state of,

(a) Maharashtra : :
(b) Rajasthan

(c) Madhya Pradesh

(d) All three mention here

ottt wistel Ao/l
(a) HeRI

(b) %A

(c) HeuME2 ;

(d) 21l saide ARl

GS1-A j 4 8 [ CONTINUE




23. | Silent Valley ﬁas been converted into National Park for preservation. It is located in
(a) Uttarakhand ' (b) Jammu and Kashmir
(c) Kerala (d) Karnataka
Ad-e vl (@el) - Aqree w2 dA Al Genrui AUl el 8. dd ...
(a) Gruvis ‘ (b) %34 21 512412
(c) 531 : (d) sa2s
24. | Mangrove vegetation is found in
(a) Western Ghats (b) Kullu Valley
(c) Dehradun Valley - (d) Sunderbans
Hatla (A2) gl sui A HA & ? :
(a) ulam we (b) 54 vllat
(c) edug vl (d) ¥ean
25. | What is dealt within the Part IV of our Constitution?
(a) Fundamental duties
(b) Directive principles of State Policy
(c) Fundamental rights
(d) Citizenship
audl oitRRAE ML IV Sl A a6 ?
(a) NG 590
(b) uzu-lR-u RZas Risidl
(c) ynoqa wEsRL
(d) AR5
26. | Project ‘Sankalp’ is associated with the elimination of —
(a) literacy (b) Polio
(c) Unemployment (d) HIV/AIDS
AA-uniel Aseu Ao’ Si-l uogel wd AsAa O 7
(a) Raal © (b) wilaul
(c) Silaroudl (d) HIV/AIDS
27. | “Chipko Movement” is world’s most known eco development programme started by
Sunder Lal Bahuguna (1973). 1t is related with: '
(a) Conservation of Forests (b) Afforestations
(c) Planting (d) Population
Yeraa ogaRn gt 1973 Hi WRREAA Ris w2 a3 s2ami »1dd Ba ulig “Rus
uiglan” AA-unidl sil 08 Asouda 9 ?
(a) ¥ordly U@ (b) a-ls2a1
(c) gauuLL ; (d) @l

GS1-A 9 [ P.T.O.
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28. | Which of the following is not a Direct Tax?

(a) Income Tax : (b) Tax‘on Interest
(c) Corporate Tax (d) Service Tax
D2l g4 ueua 52 4l 7 :

(a) 20as dzl -~ (b) Uy U 5

(c) [Raw 2 - (d) Aal 52

29. | The Planning Commission of India is

(a) Constitutional Body

(b) Statutory Body

(c)*Quasi-Judicial Body

(d) Neither Constitutional Nor Statutory Body
cudla dl-wda g e ? : T
(a) oitzella da , & L :
(b) AR5 d=t

(c) xH-~alsd

(d) A=-tiaRelly w1 ﬁz-&ﬁtﬁs d=t

30. | Dual government held a great advantage for the British: they held
(a) Power with responsibility ;

(b) Responsibility without power

(c) Power without responsibility

(d) None of the three

24 w5120 AR ©ell % QM Hodl Sl B uRB1R M2d -

(a) FaCtEYysd =@

| (b) 2E5R(AANA el

(c) wuseidladl »(as2

(d) etda A2 W4 A5 wa 4dl..

31. | 73rd Constitutional Amendment Act of 1992 is related to
(a) Voting age of citizens

(b) Number of the members of Parhament

(c) Panchayati Raj institutions

(d) Provision of Service Tax

734 viRella YRl ERAw, 1992 S0 WA dsmda ® ?
(a) wulRsi-l HdgIAL qu-lL AeeHi

(b) e AucA-Al v As ML

(c) daadl A% A1 Aeeiui

(d) Aausant dgofui

GS1-A . : 10
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32. | Which of the following is the largest (area wise) Lok Sabha constituency?
(a) Kangra - F ‘ (b) Kachchh
(c) Ladakh (d) Pokharan
[Q2crz- e[ DNA-uuisll sul disuen Hagr Qa2 Al HA S ?
(a) s  (b) 59
(c) aet C(d) Wi
33. | Who had founed the famous Hindu College at Calcutta for the promotion of modern
education in the country
(a) David Hare
(b) Lord William Bentick
(c) Henry Vivian Derozio
(d) Alexander Duff
gauui 25 Riaau dleus 1 12 DA-unid A8 sasmi fuad (g sidor- 22 59 ¢dl ?
(a) $as 82 ;
(b) 4iS (Aalauu -4
(c) 84 [alaau 3
(d) AdsN~3R 35
34. | Which of the following cities are being developed as Model Solar Cities?
(i) Nagpur (i) Chandigarh  (iii) Gandhinagar
Select the correct answer from the codes given below:
(a) (i) and (ii) Only i (b) (i) and (iii) Only
(c) (ii) and (iii) Only 5N (d) (i), (i) and (iii) all three mention here
AA-uuiefl su ad:A “wueed AR A8 443 [swaani 2udl 280 7
(Y2 (A (3) AR
A2-u [aseuinial aiou [Asey waie sal.
(@) M= (1) 21 (2) : (b) HA (1) 244 (3)
() WA (2) 244 (3) (d) (1), (2) 241 (3) 2l sldd AV
35. | The objective of ‘Sangam Yojana’ is —
(a) To make Ganga water pollution free river
(b) To make Sangam region of Allahabad more attractive for tourists
(c) To ensure welfare of the handicapped
(d) To unite various groups of different religions
oy Al L Gaey ‘
(a) 2lou €l NgURHSA s
(b) Btesiouedl A [z ud2sia ay 2usfd 53 d Ad [Qsfd s2a)
(c) [Asaizn-u seuw 2+ W
(d) [Alay uxl-u e 2592 521

GS1-A ' 1 ' [ P.T.O.




| 36.

As per the.13th Finance Commission guidelines, each state has to achieve fiscal deficit
of per cent of their respective Gross State Domestic Product (GSDP) by 2014-15

(a) Zero : T - (b) One
(c) Two ) (d) Three
1341 uetivial Aaaws waud 2014-15 Yui £35 % g2 il AT SR Ve, Asa AP
43¢ gL (GSDP) U 3oen uldatd emami 20da 8 ?
(a) U1 ' (b) s
©a | (d) A2t

37.

Most recent recipient of “Dadasaheb Phalke Award” is,
(a) Shahrukh Khan

(b) Amitabh Bachchan

(c) Dilip Kumar

(d) Pran K. Sikand _

AT ML % “elel oL 51137 YRR ANAUR

(a) WS3W M '

(b) ARAH G127

(c) Bdlu guR

(d) 3 3. Alse

38.

With reference to Human Development Index (HDI), consider the following statements
(i) 1t is multidimensional index. '
(i) HDI talks about ends as well as means.

Which of the above statement/s is/are correct?

(a) (i) Only

(b) (ii) Only

(c) Both (i) and (ii)

(d) None of the three

it 51 A2sis (HDI) At Aol - st dwiRil:

(1) A aguRauslla yasis 8. .

(2) HDI A qzal-l 20, agayld-t 23t et etd 8.

| BuAsanidl 54/ sur sudl AU D ?

(@) $54 (1)
(b) 551 (2)
(©) (1) 21 (2) »d 4
(d) calda A0 W4 2As e L,

GS1-A 12 . [ CONTINUE




39. | Consider the following statement regarding ‘Gadar Party’

(i) The ideology of the party was non-secular.

(ii) The party had active members only in the United States of America and Canada.
Which of the following statement/s is/are correct?

(a) (i) only

(b) (ii) only

(c) Both (i) and (ii)

(d) None of the three

gl dgelui DA 524 dwadl ?

(1) Wil Rarar Brainels sd.
2) Wl alBu 515 Wat 2R dan 5433 % s,
GuASAnidl s/su sal AU S ? |
(a) WA (1)

(b) M1 (2)

() (1) 211 (2) vir

(d) saida 2 U 25 uw 4l

40. | Blackbuck National Park is located in
, (a) Surat District '

q (b) Bhavnagar District

(c) Porbandar Disctrict

(d) Banaskantha District

6l 5015 AN Genrtg 22 ...
(a) ya Creal

(b) cna-R Preal

(c) WiRvigR Freal

(d) vi-usisl Byeal
41. | Which one is wrongly mat&hed
(a) Jyotiba Phule - Satya Shodhak Samaj
‘| (b) M K Gandhi - Harijan Sevak Sangh
(c) Lokmanya Tilak - Abhinav Bharat
(d) G K Gokhale - Servant Of India Society
Duniell 59 dou QA YAl N ? :
(a) opilen 5 - AAAHUS AW
(b) ¥H. 3. il - ¢RyAas v
(c) sy dlas - [MHAd IR
(d) @. 3. 20md - udee s S Al

GS1-A - 13 [P.T.O.




42.

43.

Whiéh of the following statements tell why India is a democratic republic?
(a) The head of the state is elected by the people
(b) There is parliamentary supremacy

(c) There is independence of judiciary

(d) None of these

Dauisl 53 sa 202 539 § B A5 WAATUS Asmd A0 O ?
(a) Awadl 4l st g Y .

(b) AUE W MRAHL a2 8.

(c) MR ~nadaA 2ad .

(d) £uida A2 U4 215 u adl..

The Prevention of Children from Sexual Offences Act, 2012 (POCSO) passed by the
Parliament to prevent incidents of sexual abuse of children covers which of the
following sections of the Indian Society? :

‘(a) Boys and girls up to the age of sixteen and eighteen years respectively.

(b) Girls of up to the age of eighteen years.
(c) All children up to the age of eighteen years.
(d) All children up to the age of sixteen years.

o5l 28 adl e el 2zl A5 12 AAE GRINAR saaii 2uda oadla aameld
s S s 2EMuH, 201241 (POCSO) euadla AL s et 2uadl aada 9 ?

(a) 16 Y slsadl 23 18 a3l sisAl
(b) 18 a3l e9Lsdlatl

() 18 al el oatn o cust

(d) 16 ad ydl-u ot oua sl

b

44.

Which one is not correctly matched
(a) Hazarat Mahal - Awadh
(b) Kunwar Singh - Bihar

(c) Nana Saheb - Kanpur
(d) Azimullah Khan -  Gwalior

Dl 54 dlou QA YA el

(a) 8MRd - va
(b) 5afe - [Ber
(c) -t 8 - HAYR
(d) 210 Heens vt - aaqf@ur

GS1-A 14 [ CONTINUE




45. | Consider the following statements:

() ‘Cholesteroi-free’ means ‘fat-free’

(i) Cholesterol is not required in our diets

Which of the statement/s given above is/are correct?

(a) (i) Only (b) (ii) Only

(c) (i) and (ii) (d) None of the three

Al sal dwal 7 \ '

(1) ‘sid2A4 yYse’ walq A6ll-ysd’

(@) viusui sidz2Aaqdl 732 Sidl 1l Gulsauidl sd/sun saql e B ?

(a) HA (1) _ e (b) WAt (2)

(©) (1) A (2) vid (d) eatida et W4 35 we dl.

46. | Bone Marrow is a place where

(a) New blood cells are formed

(b) Red blood cells are destroyed

(c) Interchange of impure and pure blood takes place
| : (d) White blood cells get destroyed :

| 4 j _ 1851l He (AUA) AAd 221 9, wui

| (a) et sty (Ao i 6,

(b) A& oS ULl 2 6,

(€) Y& 2 xYg 5l 01l a9,

(d) AAsiui-l o 2 .

47. | Consider the following statements:

(i) European Space Agency (ESA) has joined the NASA’s Euclld Mission to be Iaunched
in 2020.

(ii) Euclid Mission is a space telescope designed to investigate the cosmological
mysteries of dark matter and dark energy.Which of the statemnts given above is/
are correct? |

(a) (i) Only _ : (b) (i) Only
(c) Both (i) and (ii) v _ (d) None of the three -

A san dwil: A
(1) YRURAA AHas2 a1 (ESA) 21 2020 Hi A3 212t it YBAS A/l A,

() Y343 ARt 2ig wiasiella 241250 D Bt 6121 315 W2 2 818 DI QAL AR
2l B3l 2uasl. Gulsdanidl sy / sun sadl AU B ?

(a) Wt (1) ~ (b) WA (2)
(c) (1) ¢ (2) o | . (d) saiad =3 U4 s wet 4l

GS1-A 15 : [PT.O.
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54.

51. | The concept of Human Development Index is related to:
(a) UNDP (b) Unicef
(c) Unesco (d) World Bank
Hirta Qs yasis (HDI) A 2iseyu-t si-0l 8 A3 & ?
(a) UNDP , (B) Unicef
(c) Unesco ; (d) [z el
52. | Tropical rain forests in India are found in Assam, north-easi'ern India, Kerala, Western
Ghats, Andaman and Nicobar. These are dense due to:
(a) high temperature and lesser rain ,(b) ‘high temperature and excess rain
(c) low temperature and excess rain (d) wild animals and plants
Guat s2oiflu a2:u18] FoAAL HIRAHE BUAH, Gr-Yd GURd, 3201 24 WM A12 duL AigA- |-
[Rsle i oa 1A B, 21 %21a due dlar 129 ..
' (a) G2 drumiA dx [Re qui (b) B dyHIA duL U3 aul
(c) (A3 crumiA dat ¢12 qui o (d) 4= sl dean aquld
53. | In networking a combination hardware and software that links two different types of
network is called
(a) Router :
(b) HUB
(c) Gateway
(d) Modem :
AzalForui 61532 A 232 A2 F A Bz usiR-1 124 A3 B A suL AR 2l B ?
(a) uB22
(b) &
(c) die-d
(d) Hidn
Which one of the following represents the inner planets?

(a) Planets between the Sun and the Earth

(b) Planets between the Sun and the belt of asteroids
(c) Planets in gaseous state

(d) Planets without satellite(s)

AA-unidl s 2idlRs a6l S ?

(a) 3 247 yedl a2’ e

(b) YU 24 Y5ASIAL UL 42 AL
(€) WYHY vaAH ¥ e AL

(d) Guas [Adl sl
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55. | CENVAT is related to :
(a) Sales Tax (b) Excise Duty
(c) Customs Duty - : ' (d) Service Tax
CENVAT %24,
(a) A=t A3 ‘ (b) Gewent 52
(c) dd 52 (d) A« Py :
56. | Which one of the following earthquake waves are more destructive?
(a) P — waves - (b) S —waves
(c) Surface waves - (d) Infrared waves
A2-unidl 521 epsdla aon ay [Qnuens 6 ?
(a) P - a1 (b) S - d32u
(c) G- UMl 4320 ' (d) 5138 a2l
57. | Which type of electricity —generating power plant reieases radioactive materials as
well as toxic metals such as lead and arsenic under normal operating conditions? -
(a) Hydroelectric (b) Solar (c) Nuclear (d) Coal-burning
Anidl 54 [Aga-Gane war wr-e wHy RalAui a3, Bl Asdla vewal
duay 9Mgy 241 20RRS B 3 wgil Gun 526 ?
(a) ¥t Gl  (b) R Gt (c) yl5a1R Gl (d) SlAaA-E8
58. | Index ‘Residex’ is associated with :
(a) Share prices : (b) Mutual fund prices
(c) Price inflation (d) Land prices
35 yasis si-l A Asnda ® ? :
(a) 22+ (Budl : (b) R3¢ §34 Bua ;
(c) &ouaL W (d) @1 yeu W
59. | Who won Indian Premier League 2013 in cricket?
(a) Chennai Super Kings . (b) Mumbai Indians
| (¢) Rajasthan Royals (d) None of the three
2013 i cudla BFmaz Qo IpL) Hi sl [Qora qul ?
(@) A=A Yu= Box ' (b) s $-fu~an
(c) %A AU (d) ealda A2 U4 As et 4l
60. | Bandipur (Karnataka) National Park is a site of:
(a) Deer project (b) Peacock project
(c) Elephant project . (d) Tiger project
oiglyz (suiles) Andla Geu st il Astuda 8 ?
(a) sQLA-L - : © (b) MR Ul
(c) sl iogei (d) U Ao
GS1-A ¥
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61.

Consider the following statemenmts:

() External Public Debt of India exceeded the Internal Public Debt during 2012-13.
(i) The debt of State Govt. is entirely internal debt.

Which of the statemnts given above is/are correct?

(a) (i) Only

(b) (ii) Only

(c) Both (i) and (ii)

(d) None of the three

Al sa- dwi:

(1) 2012-13 1L AHANA £330 MR oL s (s 24 A 2idls wedorfis 2an 5L amd

gd.
(2) ApU AR ed 2 1yel »idRs 2 B,
GuRisanisll 5% / su sadl A © ?
(a) HiA (1)
(b) A (2)
(c) (1) ¢ (2) tin
(d) ealdet A2 W4 25 ugL 4],

62.

Which of the following statements is correct with regard to National Old Age Pension
Scheme (NOAPS) ?

(a) This scher/ne is only for S.C., S.T,, 0.B.C. and Minority people.
(b) Under this scheme pension of Rs. 1000 per month is provided.
(c) Minimum age for eligibility for this scheme is 60 years.

(d) This scheme is for the poorest of the poor section of the society.
Al ggraa Urat 4%t (NOAPS)L g aiui a-unid sq Qi acu 8 ?
(a) 240 Lo A 2L, AL, 20600, A agulEnd Wl 9.

(b) 2 o=t il eucusllA €2 HRA 1000 3R sy 204 8.

(€) 2 A%l UM Al Yt qunaigl A 60 - .

(d) 0 411 A 24 [ ool Wl 8.

63.

The Governor of the state is

(a) Directly elected by people

(b) Elected by Members of Legislative Assembly
(c) Appointed by the President of India

(d) Appointed by Rajya Sabha

A% UYL (Ala-i2) A

(a) lsl g1 Y21u B,

(b) Rateu-n G2idan wARR g1
(€) a1 02ulq G121 zami 2ud B,
(d) ARG G121 Y2AMi ud 9.
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64.

Which among the following have a world heritage site status?

(a) Kankaria Lake (b) Pavagadh-champaner

(c) Ranki vav, Patan (d) Gandhi Ashram, Sabarmati
Da-uuidl H4 A [iud 20 (WHS)HL £23%94 Hald ©.

(a) sisRun dva L ) (b) W15 — AR

(c) A, wen (d) 2 2usn, aerud

65.

Who presides over the joint sitting of the Lok-Sabha and the Rajya Sabha ?
(a) The Speaker of the Lok Sabha

(b) The Vice-President

(c) The President

(d) The Union Minister of Parliamentary Affairs

Al 1A Ao s Assl wiaa S g 8 ?

66.

(a) Alsucu 252
(b) Gurguld
() arguld
(d) Audla susidi-n 3-ila 3l
Rudradaman’s rock edict in Junagadh is written ih which language?
(a) Guijarati (b) Pali
(c).Sanskrit - : (d) Prakrit -
oAU 2UAA FEEHAT M85 YR 3 56 auig 8 ?
@apad (b) Wl
(c) Asd : | ) . (d) iuga

67.

Consider the following statement

(i) The Battle of Buxar was one of the most decisive battleé of Indian history

(ii) This battle firmly established the British as masters of Bengal, Bihar and Orissa.
Which of the above statement/s is/are correctly stated?

(a) (i) only : (b) (ii) only
(c) B‘oth (i) and (ii) (d) None
QA su-l dwril.

(1) etsug ye udla Sl Aell ay Radus ygiud 21s ed.

@) 2y siuo, B 21 iR las adl3 AN 22 A ualq sal.
GuAsanidl s4/5u saU AU S ?

(a) Jua (1) : (b) A (2)

(€) (1) 2 (2) wid (d) s 2 WA s v dl.
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‘Stupa’ is associated with which religion/s
(a) Hinduism

(b) Jainism

{c) Buddhism s

(d) Both Jainism and Buddhism

W A s il Asouda B 7

(a) [Bg 13

(b) ¥+t 43

(c) tllg 4

(d) ¥ 44 44 g 43 i,

The Nagarjunasagar Dam is situated on the river
(a) The Godavari (b) The Krishna
(c) The Kaveri ; (d) The Bhadra
WANE o1 56 8] w2 A B ?

(a) g1l 7€  (b) MU €
(c) 5149) ) " (d) M1 €

Consider the following statements regarding Co-operative banks
(i) Co-operative bank organization in India has three tiers set up.

(ii) District Co-operative Bank is the apex co-operative institution in the 'set-up.
Which of the above statement/s is/are correct?

(a) (i) Only (b) (ii) Only
(c) Both (i) and (i) (d) None of the three
A 514 Asin Agelui WA sq4 quiail.

(1) SRl 1519l Glsio 2vsn Bi-aadly 8.
(2) o8 [rean ue 514l s Al 2o O, ; l
GuRlsduial 5y / su1 9w © 7 : /
(a) L (1) (b)) WA (2)

(€) (1) 21 (2) uA (d) eauide 21 U4 A5 yoy 4]

The concept of Directive Principles of State Policy is borrowed from which of the )
following Constitution?

(a) US Constitution (b) Irish Constitution

(c) British Constitution - (d) Canadian Constitution

palla-u (Eus Rusidl 2aseu-n Qa-unis s iRl Aani wudl © ?

(a) 23Rs1 siwze ' (b) 2U42A -8 oituRe l
(c) [Bi2n sitre (d) 531 vime ‘




72. | Thermoplastics :
(a) can be repeatedly softned by heatmg and harden by coolmg
(b) harden permanently after being heated once.
(c) Became semi-plastic after being heated once.

(d) None of the statements given above are correct.
qul~a@s A24... '

(a) UZAIR 2134 5] 14 01 © 2L §3 WL 560 CR
(b) A3 cmd a3M sul oite s1aM WS 5681 ol o 8.

() D5 vt A3 sul oue W s sl nu .

(d) Gumiall A5 uR [t e el

73. | Which measure can check inflation?

(a) Surplus Budgeting

(b) Increase in direct taxation

(c) Curtailment in Public Expenditure

| (d) All three mention here

Da-umidl sauuaan gouad Rz adl a3 97
(a) AN 1B

(b) Meus ML ARl

(c) x5 vrlui w2l

(d) 2] calda A

'74. | Bank Rate is a weapon to control money supply in the market. It is decided by
(a) Finance Ministry

(b) Reserve Bank of India

(c) State Bank of India

(d) Finance Commission

Bise2 A ool weyl Reiame 20012 8. A S @i 158l scusil 20d 67

(a) - Hnau
(b) R &5 g SFa
(c) 222 85 s SR
(d) i ¥ g »

75. | India derives its maximum commercial energy from -
(a) Coal / (b) Petroleum products
(c) Natural Gas (d) Hydroelectrlc
MIRd -l HeH cu[iv’ms Gofl st Aldnid And & ?
(a) SlaAl . (b) Q2 [@un Ueil
(c) mlds s i (d) % Gl
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76.

With reference to Vitamins, Consider the following statements:
(i) Vitamins A, D and E are fat-soluble.

(ii) Vitamins B, C and K are water-soluble.

(iii) The body can manufacture only Vitamin D.

Which of the statement/s given above is/are correct?
(a) (i) Only (b) (iii) Only
(c) (i) and (ii) (d) (i) and (iii)
(Q2vfltivu dgedi DAn sa- qwail ?

(1) (@2l 24, 244 § 220041 gicu .

(2) (Q2ifi+ o), Al 244 3 wielwi giey 63,

(3) 2R Wt [l ) o o Gewe 59 92 9,

GuRAsanidl sy/su1 sudl ued B 7

(a) Mt (1) ; (b) WA (3)

77.

78.

(c) (1) ¥ (2) vin (d) (1) 21+ (3) bil
The newly introduced Indian Rupee symbol is based on —
(a) Devnagari script (b) Roman script
(c) Devnagari and Roman script Both (d) None of the three
*ld 3 W2 A sami 20dd g Rig S uz 20Bd O ?
(a) ea-udl (&l (b) Au~ (&l
(c) 23] i Auq (&M vid (d) ealdet 22 W4 A5 uw =l
Who has been following described as the greatest exponent of guerrilla tactics
(a) Akbar (b) Tipu Sultan
(c) Shivaji (d) Maharaj Ranjeet singh
ADA-nuidl 20Ren ugla-l Al [Qdy Guaior N9 sl ¢dl ?
| (a) 215012 () Ry yawn
(c) R : (d) u812 WdRia

79.

Which of the following statements relating to “Fast Track Courts’ (FTC) is NOT correct?
(a) An FTC can take up pending criminal cases except cheque bouncing cases.

(b) FTCs are temporary courts. L

(c) FTCs are established by State Govt.s only in consultaion with the High Courts.

(d) FTCs were established on the recommendations of First National Judicial Pay
- Commission, Eleventh Finance Commission and the Law Commission of India’s

report on Man Power Planning in the Judiciary.
$122 25 812 (FTC) -1 Aea{ui AA-unidl 53 saq uew 4ol ?
(@) As euB-u R usdz Siweidl 30 Rsia 20 02 590 93 8.
(b) »u 51 $ousll Ana W2 euaimi 2udl 9, :
() 16512 Aeus tug, A% ASIR G121 21 120 UL S 204 O,

(d) 2 512 2y, uaH 8l ~ufls Ad 2uklol, 1134 AR 2 A=A sHA L
HAuArt W2, sudla staeriant RUH uas g2 sami 2uda 8,

23 [ PT.O.




80.

Which committee has been appointed regarding General Anti-Avoidance Rules
(GAAR) ? ;

(a) Dipak Parekh Committee

(b) Parthasarathi Shome Committee

(c) C.Rangarajan Committee

(d) Bimal Jalan Committee. :
sl 5126 A-A-wtciSs-4 Fesil (GAAR) - 2iselui 56 aRR quuu 2udl s,rfl :

(a) Bus waw 1[ld
(b) w202 1A Al
(c) AL a2 Al
(d) Brua et afHld

81.

Match List - 1 with List - 2 and select the correct answer from the codes given below:

LIST -1 LIST - 2
(COUNTRIES) (DISPUTED ISLANDS)
A  China and Japan 1 Paracel Islands
B  Argentina and U.K. 2 Senkaku Islands
(& Russia and Japan 3 Falkland Islands
D China and Vietnam 4 South Kurile Islands
Codes . A B C D
(a) 2 4 1 3
(b) 2 3 4 1
() 4 3 1 2
@ 4 .. 3 2 1
A1 247 YR-2 201 dloa Ad YA 5D a»w?m [asc—umsﬂ 2l [aseu uzie 52l
YR -1 ) -2
(2) (Qald 2ry2il)
A s e A 1w gl
B % (G2 2 Arslg gl
c A uA Awn 3 sisArs ayl
D A A [Qveun 4 el 54 ayvil
[aseul : A B c D
(@ 2 4 1 3
(b) 2 3 4 1
(c) 4 3 1 2
(d 4 3 2 1
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82.

The maximum labour oriented industry in India is,
(a) Cement Industry

(b) Iron and Steel Industry

(c) Jute Industry

(d) Cotton Industry

HRAHL HETH AHHAS Gedldl sul 6 ?

(a) Buit-2 Geloy ‘

(b) Alvis 24 284 Gella

(c) 2 Gailay

(d) 5143 Galoy

83.

The French Open Tennis Tournament 201 3 in Men’s Singles Category was won by,
(a) Roger Federer I

(b) Rafael Nadal

(c) Novak Djokovic

(d) None of the three

34 2lunt g2, 2013 Al At Riora 3290 80ui 510 [Rora 2 ?

(a) AAR §3R

(b) A5& 131

(c) Aicus wisifax

(d) 2uldd =9 U4 25 ygy =),

84.

Freedom of Consmence and Free Profession, Practice and Propagation of Religion is
part of Al -

(a) Fundamental Dﬁtie's
(b) Fundamental Rights
(c) Directive Principles of State Policy
(d) None of the three |

2qAd-ill @daAdL da SiSua 43R W), ugmqv{l L ARl 2adaAdL siuRee suy
euaHi wulare § ? :

() 4N 52

(b) yeyd xRS

(¢) azulla-u REas Rugia
(d) aal{ia AR WS 28y -],

GS1-A ; 25 [PT.O.




Match List -1 and List -2 and select the correct answer from the codes given below:
LIST - 1 LIST -2
(TIGER RESERVE) (STATE)
| A  Pakui 1 Arunachal Pradesh
B Satkosia 2 Assam
C  Nameri 3 Odisha
D Melghat 4 Maharashtra
Codes A B C D
(@ 1 3 2 4
(b) 2 3 4 1
(c) 1 2 3 4
(d) 2 3 : 4
QR-1 1 YR-2 8 wvudl aloy [Asey urie s2.
YyR-1 » YR -2
(s 2Rl [@Qiz) (Repd):
A ugd 1 20A4 UL
B s 2 wWwAm
c -uddl 3 wRxu
D Hame 4 HSRIY
(aseui: A B c D
(@ 1 3 2 4
(b) 2 3 4 1
() 1 2 3 4
(d 2 3 1 4
86. | Sandalwood is an example of: .
(a) Evergreen Forest
(b) Deltaic Forest
(c) Deciduous Forest
(d) Throny Forest
g 9l %o dd Gersr 9 ?
(a) sl 8Rd %l
(b) Hvi Busiallu ol Re2s).
(C)WwHuR Fadl
(d) siewu Faal
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87.

Benguela Current is

(a) Characterized by high temperature and high salinity.

(b) A cold current flows along the eastern coast of South Africa.
(c) An example of cold current.

(d) This current flows in the Pacific Ocean.

oAl 532 wed,

(a) G2A druHIA 24 G2 AaBtdl d-) [Qgiuar 6.

(b) €. 25511 Yol (i1 Wi addl 881 uyys 532 O,
(c) 831 s32 Gerr@

(d) 24 532 WRAlE 5 uYysui ad o,

88. | Which writ can be issued by a High Court to direct a public official or the government
not to enforce a law which is unconstitutional?
(a) Certiorari (b) Quo Warranto
(c) Mandamus (d) Prohibition
Adunidl 91512 g 12580 25 3 a5 A=-s{uRela SUerd wHA 4 52 {3l
U 2l 58 R2 quan & ?
(a) GAawt , : (b) 28512 yun
(c) WRwe (d) ulany
89. | Which is the most important layer of Atmospheré for human beings?
(a) Troposphere (b) Mesosphere
(c) Stratosphere (d) lonosphere
il irtaman W2 aldiaang 54 2 Al ay 21 8 ?
(a) Uiz : (b) AARTBUR
(c) RailBuz (d) 2ua-ilRFu:
90. | Pongal is a harvest festival of which state
(a) Assam (b) Tamil Nadu
(c) Andhra Pradesh ' (d) Kerala
ulne 3 sun A%l agell (i) ddair © ?
(a) 2uM (b) AllRa-ug
(c) xiusa : (d) 31
91. | During Vijaynagar Empire which Dravidian Language got maximum patronage
(a) Tamil (b) Telugu
(c) Kannad (d) Maliyalam
[Qru-1o12 mioss £ 56 sifisat e e A Sl e wej ?
(a) dlBa : , (b) 442y ;
(c) 513 (d) HAuan
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92.

Consider the following pair
A. Durand Line: " Between Pakistan and A.fghan'istan
B. Radcliffe Line: Between India and Pakistan
Which amovng the above pair/s is /are correct?

(a) A Only - (b) B Only
(c)BothA&B (d) None of the three
QA YR awal.

(1) ededvn — i 2 visaRdi a2,

@) WEs v — cRd 27 Wl a2,

GuRisauidl si/su sadl ued O ?

(a) WA (1) (b)) HA(2)

(c) (1) ¥ (2) ¢ (d) slda AR QA s we L.

93.

Regarding optical fiber what is wrongly stated here?

(a) It is a flexible, transparent fiber made of a pure glass (silica)-

(b) It works on the principle of Total Internal Reflection:

(c) Fiber optic communications are also immune to electromagnetic interference.

(d) Fiber optic communications do not permit transmission over longer distances.
wif@sa s1e1-1 Aol QA-wmidl 53 [Qun a4l ?

(@) A 4 51 (Rdsyidl ernda wreels 24 adlg S196R 8. L

(b) A 2iyel AidRs uRad-u Rugid uz sl 53 9.

(c) Riga 2etfla 4ol euiaddl, 5161 A0S AR Y 8.

(d) @it VidRe uRE W2 S156R MIRs W@l GualoL Adl Al

94.

Who is the first recipient of Rajiv Gandhi Khel Ratna Award

95.

' (a) Sunil Gavaskar (b) Sachin Tendular
(c) Milkha Singh (d) Viswanathan Anand
AA-uuidl wan A2 AL WA Y512 N 52UR sleredl?
(@) yha s ' (b) AR dgas:
(c) B [Rim (d) [Qa-ug 2u-e
“Balasya Mulam Vigyanam” i.e., “The source of strength is science” is the tag line of
(a) C-DAC (b) ISRO
(c) BHEL (d) DRDO
oy yar Rsuy” walq “alB-d wid Ran 97 2 66 Auwid 568 Azl 8.
(a) C-DAC _ (b) ISRO
(c) BHEL (d) DRDO
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96.

Consider the following:

(i) The President (i) Rajya Sabha (iii) Lok Sabha
Under the Constitution, the Parliament includes,

(a) (i) and (ii)

(b) (ii) and (iii)

() (i), (ii) and (iii)

(d) (iii) Only
A2 Y& duail.

() aguld  (2) ABUAML  (3) ALSAHL
GIHIREL AFAIR AAEHT Sl AHEAN 21 D ?

(@) (1) 211 (2)

(b) (2) i1 (3)

(€) (1), (2) 211 (3)

(d) 1A (3)

97.

Kathak is a classical dance from revitalised as a result of on Indian
culture

(a) Rajput influence

(b) Mughal influence

(c) Vijayanagar influence

(d) Gupta influence

v{luvumaﬂ *iRdld 22504 U2 S uena Ss0 Al e s2as YAlydld alg
(a) ABYA UHIA

(b) Y14 ueua

(c) [Qrun212 wmwa weua

(d) AH AHFU UM

98."

Who among the following waged a long struggle in favour of widow remarriage
(a) Ishwar Chandra Viddyasagar

(b) Ravindra Nath Tagore

(c) Kesav Chandra Sen

(d) Surendra Nath Benargy

(atan yrldaus-t a4 w2 DA-umidl 519 @i dad sl edl ?

| (a) SuUs [Qenwor

(b) Aaw-ua 21902
(c) 3uaig A
(d) Y3%Ul G
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99,

Gusenidl 525 sudl A B 7 2

Consider the following statements:

(i) Candle light is incandescent Iighf

(ii) The Sun is an luminescent light

Which of the statement/s given above is/are correct?

(a) (i) Only

(b) (ii) Only

(c) (i) and (ii)

(d) None of the three

A2 sul el ?

(1) Mol usia d uR-usilkia 9.

(2) wusind A uslBa® ?

(@) WA (1) .
OwA@) T
(©) (1) 4 (2) 6

(d) sauida v UH A5 uat 4.

100.

During which movement the revolutionaries set up ‘parallel govemment' in some areas
(a) Quit India : ; .

(b) Civil disobedient

(c) The khilafat

(d) Non-cooperation

ADA-uniddl 56 anan e silasdil g 248 [QaRul UnidR 22512 200 as ?
(a) [ ©isl anan

(b) Ala-u vasu xigian

(c) Brcusd wigian

(d) AAS SR Higlan
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